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円周率 π は無理数である. (35)



連分数展開

4

π
= 1 +

12

2 +

32

2 +

52

2 +

72

2 +

92

2 +

112

2 +

132

2 + · · ·
(36)



連分数展開
π

2
= 1 +

1

1+

1 · 2
1 +

2 · 3
1 +

3 · 4
1 +

4 · 5
1 +

5 · 6
1 +

6 · 7
1 +

7 · 8
1 + · · ·

(37)



連分数展開

π = 3 +
12

6 +

32

6 +

52

6 +

72

6 +

92

6 +

112

6 +

132

6 + · · ·
(38)



連分数展開

4

π
= 1 +

12

3 +

22

5 +

32

7 +

42

9 +

52

11+

62

13+

72

15+ · · ·
(39)



連分数展開
π

2
= 1 +

2

3+

1 · 3
4 +

3 · 5
4 +

5 · 7
4 +

7 · 9
4 +

9 · 11
4 +

11 · 13
4 +

13 · 15
4 + · · ·

(40)



連分数展開
4

π
= 1 +

2

7+

1 · 3
8 +

3 · 5
8 +

5 · 7
8 +

7 · 9
8 +

9 · 11
8 +

11 · 13
8 +

13 · 15
8 + · · ·

(41)



連分数展開
8

−8 + 3π
= 5 +

1 · 5
7 +

2 · 6
9 +

3 · 7
11 +

4 · 8
13 +

5 · 9
15 +

6 · 10
17 +

7 · 11
19 + · · ·

(42)



連分数展開
4

−2 + π
= 3 +

1 · 3
5 +

2 · 4
7 +

3 · 5
9 +

4 · 6
11 +

5 · 7
13 +

6 · 8
15 +

7 · 9
17 + · · ·

(43)



π = 4 +

∞∑
n=1

(−16)n
(2n
n

)
(40n2 + 16n + 1)(4n

2n

)2
2n(4n + 1)2

(44)



1

π
= 12 ·

∞∑
n=0

(−1)n(6n)!

(3n)!(n!)3
· 13591409 + 545140134n

6403203n+3/2
(45)


